Revolut Business

Transaction statement

Generated on the 5 August 2025

PORTABLE MEDICAL TECHNOLOGY LIMITED

3RD FLOOR 41/42 HIGH STREET KILLARNEY V93T8K7 Ireland

Account name Main Currency EUR

Type Local

IBAN IE30 REVO 9903 6049 0638 63

BIC REVOIE23

Type International

IBAN IE30 REVO 9903 6049 0638 63

BIC REVOIE23 Intermediary BIC CHASDEFX

Balance summary

Opening balance	€14 677.44
Money in	€40 004.44
Money out	- €15 296.93
Closing balance	€39 384.95

Your funds are held and protected by a licensed bank.

Transactions from 25 June 2025 to 1 August 2025

Date (UTC)		Description	Money out	Money in	Balance
31 Jul 2025	MOA	Money added from PORTABLE MEDICAL TECHNOLOGY LTD • REVOLUT PMT		€20 000.00	€39 384.95
31 Jul 2025	CAR	Riddle.com Sub.	€451.00		€19 384.95
30 Jul 2025	CAR	Intercom R&d FX Rate EUR 1 = USD 1.156996	€836.59 \$967.93		€19 835.95
30 Jul 2025	MOS	To Vinayak V Maka • ONCOassist - testimonial Fee: €25.00	€225.00		€20 672.54
29 Jul 2025	CAR	Parolla Payroll	€34.45		€20 897.54
29 Jul 2025	CAR	Msft * E0100wyqy5	€13.65		€20 931.99
29 Jul 2025	CAR	Linkedin P483266423 FX Rate EUR 1 = USD 1.159226	€503.94 \$584.18		€20 945.64



Revolut Bank UAB is authorised by the Bank of Lithuania in the Republic of Lithuania and by the European Central Bank and is regulated by the Central Bank of Ireland for conduct of business rules. Registered address: Konstitucijos ave. 21B, Vilnius, 08130, the Republic of Lithuania, number of registration 304580906, Fl code 70700. Revolut Bank UAB is a private limited liability company. Revolut Bank UAB has established a branch in Ireland, number of registration: 909790 with its address at 2 Dublin Landings, North Dock, Dublin 1, Ireland. Eligible deposits are insured by the Lithuanian Deposit Insurance scheme. Information on deposit insurance for the Public Institution "Deposit and Investment Insurance" (Viešoji įstaiga "Indélių ir investicijų draudimas") is available at Deposit Insurance Information Document and on its official website www.iidraudimas.ll/en.

27 Jul 2025	CAR	Apple Search Ads - Eur	€72.15	€21 449.58
26 Jul 2025	CAR	Amazon Reta* Y05i53ey3 FX Rate EUR 1 = USD 1.172936	€18.79 \$22.03	€21 521.73
26 Jul 2025	CAR	Www.podcastle.ai FX Rate EUR 1 = USD 1.172751	€7.68 \$9.00	€21 540.52
25 Jul 2025	CAR	Adobe *adobe	€68.68	€21 548.20
24 Jul 2025	CAR	Esb Ecars	€79.41	€21 616.88
22 Jul 2025	CAR	Github, Inc. FX Rate EUR 1 = USD 1.169255	€34.21 \$40.00	€21 696.29
21 Jul 2025	CAR	Lucidchart.com/charge FX Rate EUR 1 = USD 1.160880, Fee: €0.62	€62.65 \$72.00	€21 730.50
21 Jul 2025	CAR	Apple Search Ads - Eur	€78.55	€21 793.15
21 Jul 2025	CAR	Atlassian FX Rate EUR 1 = USD 1.163361	€469.29 \$545.95	€21 871.70
21 Jul 2025	FEE	Revolut Business Fee • Expenses app charges	€15.00	€22 340.99
21 Jul 2025	CAR	Microsoft-g103137845	€60.48	€22 355.99
21 Jul 2025	CAR	Openai *chatgpt Subscr	€23.00	€22 416.47
20 Jul 2025	CAR	Intuit Mailchimp	€526.99	€22 439.47
20 Jul 2025	CAR	Facebk *dysgnulm62	€424.35	€22 966.46
20 Jul 2025	CAR	Spotify P38b9af3c6	€16.99	€23 390.81
19 Jul 2025	CAR	Junction 14 Mayfield	€16.95	€23 407.80
19 Jul 2025	CAR	Applegreen Glanmire	€63.34	€23 424.75
19 Jul 2025	CAR	Directroute (fermoy) L	€2.30	€23 488.09
19 Jul 2025	CAR	The Lean Bean	€11.65	€23 490.39
19 Jul 2025	CAR	Midlink M7	€2.30	€23 502.04
19 Jul 2025	CAR	Freenow* Cjy1qp-2	€28.69	€23 504.34
18 Jul 2025	CAR	Microsoft-g102817622	€20.67	€23 533.03
18 Jul 2025	CAR	Microsoft-g102825426	€13.78	€23 553.70
17 Jul 2025	CAR	Elsevier FX Rate EUR 1 = USD 1.165031	€101.26 \$117.96	€23 567.48
17 Jul 2025	CAR	International Hotel	€80.00	€23 668.74
16 Jul 2025	CAR	1password FX Rate EUR 1 = USD 1.167306	€120.94 \$141.17	€23 748.74
16 Jul 2025	CAR	Co-fe Collaborative FX Rate EUR 1 = USD 1.162191	€253.84 \$295.00	€23 869.68
16 Jul 2025	CAR	Corrib Spar Model Farm	€6.90	€24 123.52
16 Jul 2025	CAR	Sumup *self Employed	€31.40	€24 130.42
16 Jul 2025	CAR	Petit Delice David Ara	€5.80	€24 161.82
16 Jul 2025	CAR	Searchads/apple228	€2.41	€24 167.62



Revolut Bank UAB is authorised by the Bank of Lithuania in the Republic of Lithuania and by the European Central Bank and is regulated by the Central Bank of Ireland for conduct of business rules. Registered address: Konstitucijos ave. 21B, Vilnius, 08130, the Republic of Lithuania, number of registration 304580906, Fl code 70700. Revolut Bank UAB is a private limited liability company. Revolut Bank UAB has established a branch in Ireland, number of registration: 909790 with its address at 2 Dublin Landings, North Dock, Dublin 1, Ireland. Eligible deposits are insured by the Lithuanian Deposit Insurance scheme. Information on deposit insurance of the Public Instruction "Deposit and Investment Insurance" (Viešoji įstalga "Indelių ir investicijų draudimas") is available at Deposit Insurance Information Document and on its official website www.iidraudimas.ll/en.

16 Jul 2025	CAR	Searchads/apple164	€14.58		€24 170.03
16 Jul 2025	CAR	Sumup *adeel Arfi	€33.80		€24 184.61
15 Jul 2025	CAR	Canva* 04576-42237481	€27.00		€24 218.41
15 Jul 2025	CAR	Upwork -827074390ref	€29.31		€24 245.41
15 Jul 2025	CAR	Openai *chatgpt Subscr FX Rate EUR 1 = USD 1.166206	€18.56 \$21.64		€24 274.72
14 Jul 2025	CAR	Apple Search Ads - Eur	€76.73		€24 293.28
13 Jul 2025	CAR	Buffer Plan FX Rate EUR 1 = USD 1.166854, Fee: €0.51	€51.94 \$60.00		€24 370.01
12 Jul 2025	CAR	Openai *chatgpt Subscr FX Rate EUR 1 = USD 1.169040	€17.11 \$20.00		€24 421.95
11 Jul 2025	CAR	Spotify P3874956ac	€11.99		€24 439.06
11 Jul 2025	CAR	Streak.com FX Rate EUR 1 = USD 1.170025	€504.27 \$590.00		€24 451.05
10 Jul 2025	CAR	Xero Global In-5940573 FX Rate EUR 1 = USD 1.172770	€64.81 \$76.00		€24 955.32
10 Jul 2025	CAR	Appetize.io Llc FX Rate EUR 1 = USD 1.171990	€34.13 \$40.00		€25 020.13
10 Jul 2025	MOR	Refund from Searchads/apple164		€0.48	€25 054.26
10 Jul 2025	MOR	Refund from Searchads/apple170		€1.89	€25 053.78
10 Jul 2025	MOR	Refund from Searchads/apple228		€2.07	€25 051.89
10 Jul 2025	CAR	Facebk *cml5htql62	€126.39		€25 049.82
10 Jul 2025	CAR	Streak.com FX Rate EUR 1 = USD 1.170610	€2.06 \$2.41		€25 176.21
9 Jul 2025	CAR	Searchads/apple228	€4.85		€25 178.27
9 Jul 2025	CAR	Searchads/apple164	€30.01		€25 183.12
8 Jul 2025	CAR	Upwork -824915692ref	€9.73		€25 213.13
7 Jul 2025	CAR	Apple Search Ads - Eur	€69.88		€25 222.86
5 Jul 2025	CAR	Sn.nord* Products	€18.44		€25 292.74
3 Jul 2025	CAR	Ga-insights FX Rate EUR 1 = USD 1.175835	€20.42 \$24.00		€25 311.18
3 Jul 2025	CAR	Smartbear Ireland Li FX Rate EUR 1 = USD 1.179910	€91.54 \$108.00		€25 331.60
3 Jul 2025	CAR	Uber *trip	€6.35		€25 423.14
3 Jul 2025	CAR	United01643099046853 FX Rate EUR 1 = USD 1.178365	€6.79 \$8.00		€25 429.49
2 Jul 2025	CAR	Google Cloud 8638wd FX Rate EUR 1 = USD 1.177005	€339.00 \$399.00		€25 436.28
2 Jul 2025	CAR	Sinch Mailgun FX Rate EUR 1 = USD 1.179850	€2.74 \$3.23		€25 775.28
2 Jul 2025	CAR	Mongodbcloud Portab FX Rate EUR 1 = USD 1.180190	€212.85 \$251.20		€25 778.02

Revolut Bank UAB is authorised by the Bank of Lithuania in the Republic of Lithuania and by the European Central Bank and is regulated by the Central Bank of Ireland for conduct of business rules. Registered address: Konstitucijos ave. 21B, Vilnius, 08130, the Republic of Lithuania, number of registration 304580906, Fl code 70700. Revolut Bank UAB is a private limited liability company. Revolut Bank UAB has established a branch in Ireland, number of registration: 909790 with its address at 2 Dublin Landings, North Dock, Dublin 1, Ireland. Eligible deposits are insured by the Lithuanian Deposit Insurance scheme. Information on deposit insurance of the Public Instruction "Deposit and Investment Insurance" (Viešoji įstalga "Indelių ir investicijų draudimas") is available at Deposit Insurance Information Document and on its official website www.iidraudimas.ll/en.

2 Jul 2025	CAR	Searchads/apple164	€0.23		€25 990.87
2 Jul 2025	CAR	Searchads/apple228	€0.49		€25 991.10
2 Jul 2025	CAR	Testrail	€72.00		€25 991.59
2 Jul 2025	CAR	Aws Emea	€2 571.14		€26 063.59
2 Jul 2025	CAR	Aws Emea	€4.71		€28 634.73
2 Jul 2025	CAR	Google Gsuite_portablemed	€577.85		€28 639.44
2 Jul 2025	CAR	Linkedin P445388393 FX Rate EUR 1 = USD 1.178485	€49.36 \$58.16		€29 217.29
1 Jul 2025	CAR	Birthdaybot FX Rate EUR 1 = USD 1.179710	€1.12 \$1.32		€29 266.65
1 Jul 2025	CAR	Slack T0k9yb5ap	€48.86		€29 267.77
1 Jul 2025	CAR	Riddle.com Sub.	€451.00		€29 316.63
30 Jun 2025	MOA	Money added from PORTABLE MEDICAL TECHNOLOGY LTD • REVOLUT PMT		€20 000.00	€29 767.63
30 Jun 2025	CAR	Apple Search Ads - Eur	€80.11		€9 767.63
30 Jun 2025	CAR	Intercom R&d FX Rate EUR 1 = USD 1.171248	€8.86 \$10.37		€9 847.74
30 Jun 2025	CAR	Facebk *8lfqtsql62	€384.99		€9 856.60
29 Jun 2025	CAR	Intercom R&d FX Rate EUR 1 = USD 1.170333, Fee: €24.15	€2 439.62 \$2 826.90		€10 241.59
29 Jun 2025	CAR	Parolla Payroll	€36.91		€12 681.21
29 Jun 2025	CAR	Linkedin P441746673 FX Rate EUR 1 = USD 1.170333, Fee: €4.99	€504.15 \$584.18		€12 718.12
28 Jun 2025	CAR	Microsoft Payments	€13.65		€13 222.27
28 Jun 2025	CAR	Msft * E0100woxtd	€57.56		€13 235.92
28 Jun 2025	CAR	Streak.com FX Rate EUR 1 = USD 1.171430	€22.25 \$26.06		€13 293.48
26 Jun 2025	CAR	Www.podcastle.ai FX Rate EUR 1 = USD 1.162356	€7.75 \$9.00		€13 315.73
26 Jun 2025	CAR	Searchads/apple164	€0.48		€13 323.48
26 Jun 2025	CAR	Searchads/apple170	€1.89		€13 323.96
26 Jun 2025	CAR	Searchads/apple228	€2.07		€13 325.85
26 Jun 2025	CAR	Facebk *gypykrul62	€349.32		€13 327.92
26 Jun 2025	CAR	Www.amazon.* No95m2m05	€249.77		€13 677.24
26 Jun 2025	CAR	Www.amazon.* At25t4o55	€249.77		€13 927.01
25 Jun 2025	CAR	Adobe *adobe	€68.68		€14 176.78
25 Jun 2025	MOS	To Joe Van Galen • Joe Van Galen consultancy work FX Rate EUR 1 = USD 1.159776, Fee: €0.86	€431.98 \$500.00		€14 245.46

Transaction types

Card payments (CAR) - €14 594.68

ATM Withdrawals (ATM) €0.00 Money sent (MOS) - €631.12

Exchange Out (EXO) €0.00 Money received (MOR)

+ €4.44

Exchange In (EXI) €0.00 Money added (MOA)

+ €40 000.00

Revolut Fees (FEE) - €71.13